000000000000(19910 100 10 00 10)

e (00D)(0)0OOD (UODO,00,00),(0)—(0)

e P70 (1.11)000,20 10 Ay, — Ay

e P14/12, X0 10 20 gy — Yio

e P18 £10, 0 (2.11) — O (2.13)

e P34 /15,0 (3.4) — O (3.5)

e P34¢19,0000  —0O00O.

e P37¢18, 0000000 - 0000000

e P430 34, W, 000 310 — W, 000 3.80

o P45 05, W1 = X'PyX = X'X = X'Pap, X — Wao1 = X{y Py X(2) = Xy, )

o P45 07, Wymny = X'Py, X = X'Py, X — X'Py X — Wiaza = Xy Py, X(3) = X/ Pv, X(2)
X Po, X(2)

e P45¢22,q0 100 p—100 —¢O0p—100100

X2) — X(oy P, X2

e P4600 7,0 (3100000 — 0O (3.16) 000

e P52 718, g(Wy) — g(W?)

e P55 010,11, [, — [,

e P.56 022, tr®dW — trOW

e P57 05, (0) = E[(X]0X,)]" — ¢(0) = Elexp(X|60X,)]"

e P57 07 (00), B(X/0X,) — E{exp(X/0X,)}

o P58 (12 (00), |I — 20| "/? exp(—%unglu; + ) |- 205|712 exp(—%unglut 4 )
e P580 (4.23)000, [I —208" /2exp--- — | —20%| /2 exp---

e P60¢1,2t000 —2mO00

o P60 02, 1,---,2k 000 dyio O, dgia O, -, dop_1ior 0 — 1+, 2m 000 iyiz O, dgig O, -,

Tom—1%2m O
e P60/¢3,:0 2k00000 k0000 —i02m 00000 m0OOOO
¢ P62U8 t) =t = oty =ty=-
e P6500 47, VAW (0,271 = VW, (n, 271
e P.70 (15, (n — 1)Var(r —p) — (n—1)Var(r — p)
o P74 015, X1, , X ~ Ny, ¥) — X1, , X ~ N, (0, 5)

e P85 /15 (00), n(n—1)(X —p)/2"H(X —pu) — n(n—1)(X — o) X~HX — o)



P85 £21, 000 nlu — o) 5 (1 — jio) — 0 00 i — o) S (1 — pro)
P.86 (11 (0 0), xr(a) — x7(@)

P87(17 (00000 O0O), (Zr —p)(@h —u) — (Tn — p)(@h — p)’

P.90 (1, U — |U|

P90 ¢9, 000000 1420 - 00O00OD00OO 1320

P91 0180 (6.21) 00, {uln(p—X)"---} —= {un(X —p)---}

P93/¢13,00 3600 — 00 3.700

P.94 0 (6.29),
k n N & .
_ I, (W2 e v
A= <Cc— M=

W2 ([T ") W2

P.94 0 (6.30),
k - n—k k np—
P § L O (et il 1 R L Sl

[Wg|(n—k)/2 (ngzl(nh — 1)(nn=1)p/2) | W | (n—F) /2
P.95 023, (Zj1,+ Zin, 1 = 5 Zin) — (Zjro++ 2 Zins L = X0, Zin)
P96 00 942, P(X €[ab]=1) — P(X € [a,b]) =1
P.100 £25, B(n —¢,¢) 000 B(n—p,p—q) — B((n—¢)/2,¢/2) 000 B((n —p)/2,(p —9)/2)

P.105 ¢1, XV — xM —

) )

P.105 0 (7.17) 00000, ntr Tt (- )X = o) — B(XY = w2)) — ntr Zph () (X -

—(
u2) = B (X" = )y
P.114 £12, Dempster (1973a, 1973b) — Dempster (1963a, 1963b)
P.115 /716, 13.40 — 1240

P117001¢2-3, 0000000000000 B(n—q,q)000 B(n—p,p—q) — A" 0
A/"000000000000 B((n—¢)/2,¢/2) 000 B((n—p)/2,(p—q)/2)

P27 0 (8.22), Xy o (Xne — X) (Kt — Xn) — Sy (Xne — X) (Xne — X0’

P.152 24, ch[Q)T1)] — ch[Q(T})]

P.153 0 (10.31) OO, p(Uy — Y{Y1) — q(Uz2 — Y3Ya) — p(Ur — Y{Y1) + q(Uz — Y3Y5)
P58 00 5, ch(4) = ch(A) — ch(4) = ch(B)

f(m,0)m(d0) . f(z,0)m(d0)
" [ f(x,0)m(d) [ f(z,0)m(d6)

P166 0 (11.8) 00, XX 'X (XW-1X) - X X~ 1X (X W1X)

P.163 ¢4 (00)

P175¢12,00 3.6 — 00O 3.7

P77 e2, L - s



P79 £8, 7 X1 X1y — o7, Xui Xy

P.189 ¢9, 0 (12.12) — O (12.13)

P193 /716, H:nxp— X:nXxp

P.193 /21,00 3.6 — 00 3.7

P.207 16,11, - ,0l,, O n0O — Iy, ---,1, 0 m0O

P217 41, ¢ = — & =

P.217 £20, Up(ly,- - 1) — Up(ly, -+, 1)

P.218 0 (1421)00,E — Ex

P218 0 (14.22) 000 200, U141 (W) = Upe1,1y(W)
P.219 O (14.24) 0 20, E[W(1)Pr P2 W (2)P2~P3 ... | — B[W (1)P1 P2 (1,2)P2 P35 ... ]
P.220 ¢13,00 8.6 — 00 14.7

P.222 42, p=(di, -+ ,p1) = p=(p1, 1)

P.223 (15,000 ADODODO — 000 HOOOO

P.224 (16 (O O), EX[EA...] - EAEH -]

P.227 (5,100 — 100

P.229 £12, 0 (12.21) — O (12.22)

P.229 £24, N, (11, X) — N, (e, %)

P.245 (1, 013, 1\/n — 1/\/n

P.245 0 (16.28), r3(X,) = O(n™2) — k3(X,) = O(n~'/2)

93 93
) mg(x)h:u - mg(ﬂﬁﬂw:u

P.247 0 (16.33) 00, s2(6> -+ — s3(6> -+

P.246 9 (0 0O)

P.251¢13, F, 0 100 000000 — F,0 100000000

(2 = 1)

K3 K3
—2 2
Jn 6/n

P253 0 (16.50) 00, @(x) + - 6(w)as ) +o(1/n) — B(3) + = 6(y)as(y) + o(1 /)

P.252 0 (16.48) 000 20, (x? — 1)

P2620 (1710000, PnTtr < (1 —(p+1—m)/2)y] = PlnTr < (1 —(p+1—m)/2n)y]
P.263 0 (17.14) 00, P(nT2 <y) — P(nTx < y)
P.263 O (17.15) 0 O, E(eT3) — E(e'nT3)

P.266 (21, (00) — (O0O)x(1+ h)—p(nq)/z



